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Change the following numbers from standard form into scientific notation.
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9. 0.000071 =|7.) x /0

Change the following numbers from scientific notation into standard form.

10. 61+10* =

Simplify the following problems using operations with scientific notation,
write you answer in both standard form and scientific notation.
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II Polynomials:

13. (2x2—3x+1)+(—-x2+x—7) 14. (3x2—2x)—(7x2—2x+1)
- %L’};T\”‘&L‘i"é =] ! Collect |Ke- 2 3}1‘,77;(/—- 7}1—*27‘1‘"!

=[x ~2x -4 | i @

15. (2n3+10)—(—n2+3n) 16. (x+4)(x+7) tuse Yo FOIL preftod

3 Bl 2
= Lt g1 R on b e R

- 1143 {*ML"‘JH +“)j ¥ 5+'QHJLPJ Fbrw, % XL-+ !Ix-}-?.?

17.(-2m?-6m +3) + (-3m2 + m- 1) 18. (9a2-2a+ 2) + (5a2-5a+7)
‘:—--""Zl/hb"éf_’”'f“;-/gffl‘{'m‘, :qj‘*_z:q{,L;ﬁL__g;,‘%’)

T e

= ’fm”s—m%’a :]“{”%’7”\*"\‘
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What is the constant term, what is the Tegding\qoefﬁdent; what is the degree?
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